Case Study – Recovering an Effect Size from 2-sample t-test
Effect of Climate on Medical Student Applicants’ Ratings

Study:  Results of medical students’ interviewer ratings classified by whether day was sunny or rainy. Scale was a 0-20 point Likert scale, anchored with: 
10 = “unsuitable”, 12 = “marginal”,  14 = “fair”, 16 = “good”, 18 = “excellent”, 20 = “outstanding”.
Effect Size:  Typically for comparison of 2 populations with common variance: 
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Data:  Sunny Days: 
[image: image2.wmf]49

.

16

1919

=

=

S

S

Y

n

      Rainy Days:  
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Research Hypothesis:  “True Mean” Ratings on Sunny Days > Ratings on Rainy Days ( S - R > 0
Reported Results: p-value = .042  (assuming test was conducted 1-sided) ( 
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Solve for Estimated Std. Error of Mean Difference:  
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Solve for Estimated Common Std. Dev:      
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Obtain the Estimated Effect Size:     
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Source: D.A. Redelmeier and S.D. Baxter (2009). “Rainy Weather and Medical School Admission Interviews,” Canadian Medical Association Journal, Vol.181 #12, p. 933.
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